MACHINED PARTS MEET FM4910 ANSI STANDARD.
TESTED AND CALIBRATED PER STANDARD SMC PROCEDURES.

N
1
2.
3. SEE SHEET 2 FOR CONTROLLER DETAILS AND SPECIFICATIONS.
4
5

PRINTED DOCUMENTS ARE UNCONTROLLED
REFER TO EDM SYSTEM FOR CONTROLLED DOCUMENT

1 2 3 4 | 5 6 7 8
| IN900* | 4x PEEK M5 SCREW | REV. | ZONE ECN DESCRIPTION DATE BY
LQ3 1/4" FLUID OUT
7 LQ3 1/4" FLUID IN 1 US132204-A TYPO, WIRE COLOR ON PINS 3 & 4 5/1/2020 MAM
: @ @ 2 gD-"‘ 2 US132204-B UPDATED SPECS ON SHEET 2 7/21/2020 MAM
@ O O O 3 US132204-B ADDED SEPARATE SPECS FOR 0250 FLOW. 7/28/2020 MAM
0 OoO
© .
S ,
D@ @
B 209.5 o
78 - 81.5 - LVR FLOW REGULATOR
~ 295 M8 CONNECTORS I
qﬁz I LFU FLOW SENSOR
®5/32" ONE TOUCH M12 CONNECTOR
- = :Eﬂﬁ]]]/ I CDA SUP PORT
I / ITV ELECTRO-PNEUMATIC
REGULATOR
I I
@
‘ Te]
LO A
Te] 4
: \ & 2
- T A o}
(o))
| N~
0
<
LFUZ0-M-MMN-DUWO2544 | <
1 | | 1 1 BRI
3.2mm ONE TOUCH
BREATHER PORT 8x R2.75 THRU -
6. 1| 173 | -l
- MOUNTING SLOTS
w0
S| —=— 7 345
Y !
— [p@ ©
5 [E ©n . HOW TO ORDER
e
(o]
LD LFU20-##-####-DUW02544 1 LFU20-##-#H#-A01 - LOW FLOW FLUID 1
Sy @ T 7T DUWO02544 CONTROLLER
— U@ © o o
i : 'LEOM PART NUMBER DESCRIPTION QTY.
© L(_éﬁl%LTEH CALIBRATED FLOW 2.
SCALE
0250 250mL -= Y /-
-at17S 02 | 2m mm @ FREE @m. SMC Corporation of America
12x PEEK M4 SCREWS 0500 500mL Aoy PE | s comus carmmau rononromeer o e comoronor.
OTES: (UNLESS OTHERWISE SPEC|F|ED) 03 | 3m 1000 1000mL MICHAEL J. REIDY 12/10/2018 ORI WHOLE, EXCEPT AS AUTHORIZED IN WRITING BY SMC CORPORATION OF AMERICA.
ALL DIMENSIONS ARE FOR REFERENCE ONLY. 05 | 5m 1500 1500mL APPROVEDBY DESCRPTION
ALL DIMENSIONS ARE IN mm. 10 |10m REFER TO EDM SYSTEM LOW FLOW FLUID CONTROLLER

CADFILE

SIZE

LFU20-##-####-DUW02544 B

SHEET 1 OF 2 REVISION

/\

DRAWING/PART No.

LFU20-##-####-DUW02544

Courtesy of Steven Engineering, Inc - (8@0) 258-9200 + sales@steversieng.com - www.stevenengineering.com

|REFERENCE NUMBER: US132204




| 5

SPECIFICATIONS
A 95001£3% Setpoint @ 230%F.S.Flow
ACCURACY 1900140.75% F.S @ <30%F.S. Flow
0250 £3% F-S.@ 230%F.S. Flow
5% F.S @ <30%F.S. Flow
RISE TIME(s) 3
SETTLING TIME(s) 5
STABILITY +3% Setpoint @ 10-100% F.S.
OPERATING PRESSURE 20-60 PSI
B
POWER 24 VDC +/- 10%
CURRENT CONSUMPTION <200mA (<4.8 W) @ 24 VDC
CONTROL INPUT SIGNAL 0-10 VDC (SEE NOTE 7)
FEEDBACK OUTPUT 010 VDG
10-50°C
AMBIENT TEMPERATURE (NO FREEZING)
(SEE NOTE 1)
10-50°C
FLUID TEMPERATURE (NO FREEZING)
(SEE NOTE 4)
ORIENTATION VERTICAL
CDA

SPECIFICATION NOTES:

LFU CABLE
l< # -
UPPER XDUCR CABLE| | -
PINT | BROWN I:F:IIH:[B:// RED. IDC CONNECTOR
E:Ej SHIISII:gEGND ." PIN 1 ORANGE M3 STANDOFF
|l PIN 2 GRAY P/N: 24314
\
\ , PIN 3 BROWN
\\\ e ke & | é;_@_ﬂ PIN 4 BLUE
\
LOWER XDUCER CABLE ‘i
PIN1 | ORANGE J
PIN2__| NOT USED [[[:ﬂ:[]j M3 SCREW WITH STAR INTERNAL
PIN 3 GRAY ' TOOTH LOCK WASHER
PIN4 [SHIELD GND P/N: 90317A111
ITV CABLE
éﬂéﬁﬁgg%g = £ >i BLUE, IDC CONNECTOR
PIN1 | BROWN ‘ PIN 1 BROWN
PIN2 | WHITE PIN 2 WHITE
PIN 3 BLUE PIN 3 BLACK
PIN4 | BLACK PIN 4 BLUE

LDC1U-DUS00325
CONTROLLER

FLUID SCHEMATIC

FLUID IN =——

ULTRASONIC FLOW METER

1. TEMPERATURE BASED ON 30%-80%

RELATIVE HUMIDITY (NO CONDENSATION).
2. EXCESSIVE IMPACTS DIRECTLY ON PART

MAY EFFECT THE PERFORMANCE.
3. ENSURE THE PRODUCT IS MOUNTED VERTICALLY TO
AVOID BUBBLE ENTRAPMENT.
4. KEEP EACH ITV AND LFU WIRE HARNESS WITH UNIT IT WAS CALIBRATED WITH.
DO NOT USE CABLES FROM OTHER LFC UNITS.
5. INFINILINK PID+ MUST BE RAN ON UNIT BEFORE USE.
6. FOR OPTIMAL PERFORMANCE, FLUID TEMPERATURE
MUST REMAIN CONSISTANT AND HAVE SIMILAR
VISCOSITY TO DI WATER.

7. ACTUAL RANGE DEPENDS ON THE LOW FLOW CUT OFF SETTING BASED ON THE FLOW RANGE OF THE UNIT.

LFU | -
LT
LVR' j
| CONTROLLER_!

CONTROLLER CONFIGURATION AND PID SETTINGS

FW REVISION | PID PARAMETER PRE-FILTER SETTINGS FILTER SETTINGS '-%VL\J’T'-(E;/FEL
P =12.00 _
| = 5.50 TIME DOMAIN FILTER =0 | FLQY RANFING = 0.5
FLUID OUT 2010.0608 D =1.00 BAD DATA REJECTION = 5 AN 10mL
| CORR.1I.:OA(\)CTOR =|PREFILTER AVERAGE TIME = 20|, HYSIERESIS =1

DRAWING/PART No.

LFU20-##-####-DUW02544

SHEET2 OF 2 REVISION

/a\

1

2

Courtesy oPSteven Engineering, Inc - (é’OO) 258-9200 *l sales@stevéneng.com - www.stevenengqneering.com /

8




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5

	Sheet2
	Drawing View8
	Drawing View13
	Drawing View15




